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1. Answer the following as directed : 1x8=8
oS ATARA FMetpi Teg i
(a) Define indifference curve.
frcems @9™ wigeal fodn |
(b} Slope of the budget line is positive.
(Write True or False)
79 (FIR Ol T | (151 ¢ fiwy forer)

{c/) When total product is maximum,
marginal product starts declining.
(Write True or False)

afem g Teom WA® =W, AT Teom zm
20 YA | (o1 1 firwy foren)
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(@)

(e)

()

(h)
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(2)

Diminishing MRTS results in isoquants
being convex/concave to the origin.
(Choose the correct option)

FEPE MRTS I 3 FWAM (1 (FHF
AfS Tae /oges = |
(wm RFech AR Sferean)

State briefly the essence of Say’s law
of market.

TER 6°F R o PACH BF Towy 79

What kind of inflation is caused by
an increase in wages and
prices?

TR e qEa @ A e R
gﬁ ’5‘? i\:}?g[?

In a perfectly competitive
average revenue = ¥

(Fill in the blank)
o3 2Afeea qeTS, AT W= |
(44T §72 59 1)

Adam Smith advocated autarky as
an economic policy.

(Write True or False)

o Py FRGT IR @ udates S
fapreet Rt s | (o1 = Ry foran)

impeort

market,

{ Continued )

(3)

2. Answer any six of the following questions :

2%x6=12

oo 2R R e 2o T i

(@)

(b)

(c)

(@)

(e)

0
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Give two examples of fixed costs.

firr avr o1 Tzt o |

Define expansion path of 2 firm.

Q4 2AfOPR FTRERY AT R o

Distinguish between average revenue
and marginal revenue.

'WWWWWW@ﬂWWH

Explain the effect of income change
and price change of a good on the
budget line of a consumer.

Tejrored 19 @R @o e ST “IRTE TE 90!
AR 7 RS dS’ P

curves for
perfect

Draw the indifference
perfect substitutes  and
complements.

wﬁﬁ@wmﬁﬁﬁwmﬁaﬁmﬂﬁ
@4 TP T4

What is normal profit?

wreRS 7 2
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(4)

{g) State and explain the equation of
exchange.

Ry N9 Toay [ T T

(h) What is the difference between
precautionary motive and speculative
motive of demand for money?

R v oTedel Wiedm WEF  FEIEPS
SRR e #1257 & 7

(i) Briefly state the components of Keynes’
aggregate effective demand.

(FTIE HAP TeP] BRI XA T S
4 |

() What is comparative advantage in
production?
Teeme e R 2

3. Answer any four of the following questions :

5x4=20
el #ERT B @ vt ey

(a) Prove that the marginal rate of
substitution (MRS) between two goods
is equal to the absolute slope of the
indifference curve and also equal to
the ratio of marginal utilities.

o N @ qRY TAR Reww A 2R
(MRS) R0 (@XF SCARFe e FHH S
2% TAIATOR SreCal ST |
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(b)

(c)

(d)

(e)
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(S)

Explain the following properties :  2%x2=5

©oq YR AT R

(i) Indifference curve slopes from left
to right.

Faeers @ €T A9 eEEE Sfe
3 |

(ii) Two indifference curves cannot
intersect.

wore fRaeer® (932 S0 IR TR |

When are L-shaped isoquants obtained?
Explain.

L-S3feq TR (391 (P o T 2
g 40 |

State and discuss the law of variable
proportions.

ARSI SEEre REG e F S
1

Why is the average revenue curve
under monopoly downward sloping?
Discuss.

GFTHHI ITES T o @9 g =@ [Fe
A 41 |
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(6)

() Ilustrate the factors that cause
demand-pull inflation.

vidvefTe ErERS REbe F91 FARIR I

Fq0 1

(99 How does Keynes’ theory differ from
the quantity theory as a theory of
demand for money?

R TifEn oF e (T2 OG0! AR O
71 {70 35 7

{h) Discuss the benefits of free
international trade.

T& (qPe ACeE FAROCER v 41 |

4. Answer any two of the following questions :
10x2=20

ST e R GleeT Yo e foa

(a) Explain consumer’s equilibrium with
indifference curves. Also show that price
effect is the sum-total of income and
substitution effects. 5+5=10
Haors @9 Oe Corered SRy e
0| TS (S A W A°H (T I |
e ered R |

(b) Explain in detail the laws of returns
to scale. 10

S TR aferm [fgch fgeee wam
EalR
A25/238 { Continued )

()

(@)

(e)

(7)

Explain the credit creation process
of commercial banks. How does the
Central Bank influence the capacity of
credit creation by the commercial
banks? - 6+4=10

TR e ¥ R afermedr im0
@I AR AMEE @R 49 YR e
g gom {RBR @ 2

Discuss the classical theory of full
employment. Examine Keynes’ critique
of the classical theory. 6+4=10

o R CWAW‘@T AL 47 |
G CgOR SIFS (FE FNCABACER
Lrikakll

Distinguish between the static and
dynamic gains from trade. Discuss
how trade helps achievement of gains
from consumption and gains from
production. 4+6=10

e B wie i wreERT TR o
e w911 fierg v SegeiR e wie
TR TS SHNS F2[ (S, WA F4T |
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